202557A%

WDHE I ATASTECHRBWEEZESDOAESSTNET,
] ATAZTOEIHIE(CH T DIRBERBREMETLDOEHDBIMSENEUET,

JA JATLF
R E R (KX) obistE

H
<PNEREBEE CYERSANEESD) >
#HaT Y 77 BNeET5> ==t{v] AR R RE E B AT BIAS EDE
REEEITA
BB
REEITC 1kWh(CD&E A 796 M A 0531
HBHTUT X1 RIS
IBEED
FEMSDTSS %2 | LkWh(CDZE A 796 M A 0531
WEBBAIA
wEEITB
_ REEWITC LKWh(ZD= A6.88HM A 049/
RRBOLVT RIS
BEEH
FEMSDTSS %2 |1kWhICDE A6.88H A 049/
REEEITA
BB
REBITC 1kWh(CD= 1.98 M A0.65M
hEfEHT T RIS
BEES
FEMSDTSS %2 |1kWhicD= 1.98 M A0.65M
REEEITA
HeEwITB 1KWhicD= A 743 4043
AEEHTUT emmAIC
IEEEH
FEMSDTSS %2 | LKWh(CDE A 7438 A 0430
EEEITA 1 2HICDERYPDI5 KWhET 33.66 [ 0.00 [
e E=EATS FEEZZB1IKWhCD= 2.24 [ 0.00 [
EEEHT 7 e
‘i?;:f 1kWhic D& 224 0.00 /9
L\ (==8
FREMHOTSS %2 | 1kWhicD= 3331 A045M
EEEITA 1 BRI DERID1I5 KWhET A 14117 @ A 055/
e E=EITS FEEZZBIKWhICDS A939M A 055/
hEEHTUT %1 e,
‘iﬁi’if 1kWhic D= A4939M A055M@
L\ (==8
ERMSMDTSS %2 | 1kWh(CDE A939H A 0.55 1
EEEITA 1R DOERID1L KWhET A 72.84 A 4.40 [
EL®BITS FEEZZBIKWhC D= A6.62H A 0.40
mMEEHTUF ——
‘i;f_ﬂ"’if 1kWhiZ D= A662M A040M
L\ (==7
ERMSNDTS> %2 | 1kWh(CDE A 6620 A 0400
REEEITA
W=B/ATB
REE|ITC 1kWh(CD&E 1.54 @ A 0310
AMBHIUT %1 EEEITS
IBEED
FREMSHDTSS %2 | 1kWhicD= 1.54 A037H

%1 BS1-/\—9ILY—EXREEHEzEHFT.

X2 INRETRRKT S KUTERRTAT BRI BT R BT (.

[BRAIEHEDT BE] (CTHRBESAOILET.




